
FASTENERS AS REQUIRED

JAMB, SIZE AND
GAGE AS REQUIRED

JAMB STUD BASE CONNECTION01
SCALE: 3/4"=1'-0"

"Y" M
IN.

"X" M
IN.

CAP W/ TRACK PIECE, SIZE AND 
GAGE AS REQUIRED W/ 
SCREWS EACH SIDE FOR CLIP 
CONNECTION TO JAMB AS 
REQUIRED

JAMB, SIZE AND
GAGE AS 
REQUIRED

SUPPORT CLIP W/
FASTENERS TO 
CONCRETE &

SCREWS TO JAMB AS
REQUIRED

TYPICAL TRACK, SIZE
AND GAGE AS 

REQUIRED

SILL DETAIL
02

SCALE: 3/4"=1'-0"

SCREWS AS REQUIRED

SILL, SIZE AND
GAGE AS 

REQUIRED

JAMB, SIZE AND
GAGE AS 
REQUIRED

SUPPORT CLIP W/
SCREWS AS 
REQUIRED

SILL DETAIL03
SCALE: 3/4"=1'-0"

SILL, SIZE AND
GAGE AS REQUIRED

TRACK PIECE, SIZE AND
GAGE AS REQUIRED,
SCREWS TO JAMB AS
REQUIRED

JAMB, SIZE AND
GAGE AS 
REQUIRED

SUPPORT CLIP W/
SCREWS AS REQUIRED

SILL DETAIL04
SCALE: 3/4"=1'-0"

SCREWS AS REQUIRED

SCREWS AS REQUIRED

SILL, SIZE AND
GAGE AS REQUIRED

JAMB, SIZE AND
GAGE AS REQUIRED

TRACK PIECE, SIZE AND 
GAGE AS REQUIRED

STUD PIECE, SIZE
AND GAGE AS
REQUIRED

SILL DETAIL05
SCALE: 3/4"=1'-0"

SCREWS AS REQUIRED

SCREWS AS REQUIRED

SILL, SIZE AND GAGE 
AS REQUIRED

STUD PIECE, SIZE AND 
GAGE AS REQUIRED

JAMB, SIZE AND
GAGE AS REQUIRED

SUPPORT CLIP W/
SCREWS AS REQUIRED

SILL DETAIL06
SCALE: 3/4"=1'-0"

(1)#10-16 SCREW
@ EACH FLANGE.

WALL STUD. SEE WALL SECTION 
FOR SIZE AND GAUGE.

1'-6" MIN. LONG STUD 
BLOCK

SAME SIZE AND 
GAUGE TO MATCH

WALL STUD. 
(UNPUNCHED)

#10-16 SCREWS 1" FROM 
PUNCH MIN. SPACE SCREWS 
1"o.c. SCREW QUANTITY AS 
REQ'D PER DESIGN.

REINFORCEMENT AT STUD END

RUNNER TRACK

CONCRETE SLAB
(BY OTHERS)

07
SCALE: 3/4"=1'-0"

(1)#10-16 SCREW
@ EACH FLANGE.

ATTACH TRACK TO SLAB
AS REQ'D PER DESIGN.

STUD TO TRACK DETAIL

CONCRETE SLAB
(BY OTHERS)

TOP VIEW

RUNNER TRACK

M
IN

.
SP

AC
IN

G

M
IN

.
FR

O
M

 E
DG

E

M
IN

.
SP

A
C

IN
G

M
IN

. F
RO

M
ED

G
E 

O
F 

SL
A

B
08

SCALE: 3/4"=1'-0"
WINDOW JAMB ANCHORAGE

ATTACH TRACK TO SLAB
AS REQ'D PER DESIGN.

(1)#10-16 SCREW
@ EACH FLANGE.

OPENING

TOP VIEW

FULL HEIGHT JAMB STUDS. 
MEMBER SIZES AS REQ'D 

PER DESIGN.

CONCRETE SLAB
(BY OTHERS)

RUNNER TRACK

M
IN

.
SP

AC
IN

G

M
IN

.
FR

O
M

 E
DG

E

MIN.
SPACING

M
IN

.
SP

A
C

IN
G

M
IN

. F
RO

M
ED

G
E 

O
F 

SL
A

B

09
SCALE: 3/4"=1'-0"

FULL HEIGHT JAMB STUDS.
MEMBER SIZES AS REQ'D

PER DESIGN.

OPENING

(1)#10-16 SCREW
@ EACH FLANGE.

ATTACH TRACK END TO SLAB
AS REQ'D PER DESIGN.

CAP OPENING SIDE OF JAMB W/ 
TRACK ATTACHED W/(1) #10-16 
SCREW @ 16"O.C. IN EACH LEG

DOOR JAMB ANCHORAGE

CONCRETE SLAB
(BY OTHERS)

TOP VIEW

RUNNER TRACK

M
IN

.
SP

AC
IN

G

M
IN

.
FR

O
M

 E
DG

E

MIN.
SPACING

2"

M
IN

.
SP

A
C

IN
G

M
IN

. F
RO

M
ED

G
E 

O
F 

SL
A

B

10
SCALE: 3/4"=1'-0"

(2) JAMB STUDS

OR

ATTACH JAMB MEMBERS USING
6" SECTION OF RUNNER TRACK,

20 GA. MINIMUM. USE
(8)#10-16 SCREWS AS SHOWN.

ATTACH JAMB MEMBERS USING 
(2)#10-16 SCREWS @16"o.c.

CAP JAMB WITH 20GA. MIN. TRACK 
FOR WINDOW ATTACHMENT.  EXTEND 
6" ABOVE HEADER & 6" BELOW SILL
CONNECTIONS

(2) JAMB STUDS BACK TO 
BACK.

TIED JAMB STUDS

24
" O

.C
. M

A
X.

11
SCALE: 3/4"=1'-0"

STEEL DECK

1

1

PARTITION WALLS

METAL STUDS (        ) @ 48"
O.C.  STAGGERED (TYP)

SELF TAPPING (3)
SCREWS MIN. (TYP)

DEEP LEG TRACK
ANCHORED TO STRUCTURE
ABOVE (TYP)

CLIP FLANGE
TO FORM SHOE

12
SCALE: 3/4"=1'-0"

TYP. NON-LOAD BEARING INTERIOR WALL 
DIAGONAL BRACING AT TOP OF WALL DETAIL

JAMB JAMB SILL SILL SILL

SILL JAMB JAMB JAMB JAMB

JAMB BRACING

TYPICAL NOTES
1. THIS IS A TYPICAL DETAIL SHEET, NOT ALL DETAILS 
MAY APPER IN PROJECT.

2. BRACE WALL LATERALLY AS REQUIRED BY DESIGN. 
SEE TYPICAL LATERAL BRACING DETAILS.

3. WHEN ADDITIONAL WALL BLOCKING IS REQUIRED 
FOR THE SUPPORT OF ITEMS ATTACHED TO FACE OF 
WALL. SEE BACKING DETAILS.

SCALE:

1 2

A

3 4 5 6 7 8 9 10 11 12 13 14

1 2 3 4 5 6 7 8 9 10 11 12 13 14

B

C

D

E

F

G

H

J

K

L

A

B

C

D

E

F

G

H

J

K

L

DATE

CHECKED BY

DRAWN BY

PROJECT NO

IS
SU

ED
 A
S:

SHEET NO

PROJECT NO































































PR
O
FE

SS
IO

N
A
L 
SE

A
L:

CO
N
SU

LT
A
N
T:

As indicated

2203‐1

M
AS

SI
LL

O
N
 W

ES
T 
EL

EM
EN

TA
RY

PK
‐3

25
0 
29

TH
 S
TR

EE
T 
N
W
, M

AS
SI
LL

O
N
, O

H
IO
 4
46

46
M
AS

SI
LL

O
N
 C
IT
Y 
SC

H
O
O
L 
D
IS
TR

IC
T 
   
   
 M

AS
SI
LL

O
N
, O

H
IO

Author

Checker

2203‐1

M
AS

SI
LL

O
N
 C
IT
Y 
SC

H
O
O
L

TYPICAL LIGHT
GAUGE METAL
FRAMING
ENLARGED
DETAILS

A-555

M
AR

K
D
AT

E
D
E S

CR
IP
TI
O
N

7.
12
.2
3

10
0%
 B
ID
 P
E R

M
IT
 S
E T


	Sheets
	A-555 - TYPICAL LIGHT GAUGE METAL FRAMING ENLARGED DETAILS


